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Comparing Sequences Homework

Mario and Lugi both wan! you fo come and drive Go-Karts for their team. They wil pay you in gold

Eoch one makes

offer

Marfo: | wil giv
much os | paid

goald coins on the first doy. Then, every day after that, |'will pay you 3 times as
the day before

Luigh | wil give
than | paid you lhe day be

! he fist day-Then. every doy after that. | will pay you 20 mors cors

Wha would you rather work for? Use the

ible beiow 1o help you decide

[ Mario's Deal [ Dally Wage [ Luigl's Deal | Dally Wage
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Total Earnings ‘ 9% }lolul Earmings 215

1) Whom would you rather work foré N } .
wnye_HE Maers Moved 1212 eavnainag !y‘{\[al‘{s ak
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2] Does the deal represent on anthmetic or geometic sequence? Explain why.
mario e iC, Trsverc p commion
Luigi Pm*hnu,hh Tk/,"’f,"- (A (o oNon Ai

3 Why does Mario's deal eventually become better than Luigi's deal? o >
Lhal) a\C noresse Mot
Aawebac (expunenhial) W\,e{\,\»’\;}v 5 . moleggt M

4)_write on expicit function to represent soch saquence

[ Luigl's Decl
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). Conmcier the following:
* Oplion I: You con be poid 320 an hour for 20 hours of work.
. Opfion 2 You can get $1 the [t hour, $2 th

a. Write an expicl lormulo foreoch option
ooten | & A
"l"“, * 0n = 20N

‘

ophen 2+ f, =

b Which opfion would you choos: o why®
ophoN L, gy make tore money
€. I you only worked 10 hours would your armwet be the same? Why? e
W =200\ 0 w=1" .y \
hellib o0& i L fes, You ehll mak<
424 3 1p2d Yo tnone
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2. The yeorbook stall is unpocking o box of schoal yearbook. The sequence 281, 270, 259, 248,
1eprasents the folol number of cunces Kal Hhe box weighs as eoch yearbook & foken oul

@ What s the wegh! of eoch yearbook? \\ 0%

b Alfter 20 yeorbooks were unpocked. how much cid the box weigh? 12 04,

fn= 20\ -a(n-1) = din 247 Ao = -u(2

© i the full bax ol yeorbooks weighs 292 ounces, how MATTy yeabooks wese in the boxd

920 = W Jealoodes

3 You ore rying lo Cecice whether Nettix or HubuPius b a betler deal. Write 0 saquence for eoch
stualion. Compare the yntercent and rate of changa for eoch function. Based on ihi inlormotion. o

which funclion would you choared { \-M
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